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ت ��� ا���� ا������ 
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ABC �� ا��او�� ���� A.   

 ه$ �2رج &$ل ا�0)/ ا����ذي �,+* ا��او�� ()' &$ل ا�$!�؛ ���ABC" !��م ا��او�� 

�cos :و���5 �4 ������ ABC 

ل ا�0)/ ا������ �,+* ا��او�� ()' &$ل ا�$!�؛ و���5  ه$ �2رج &$���ABC"  ا��او�� 

������ 4�: �sin ABC  

 ه$ �2رج &$ل ا�0)/ ا������ �,+* ا��او�� ()' &$ل ا��6�ABC /(0 ا��او�� 

�tan :ا����ذي؛ و���5 �4 ������ ABC  

���س زاو�� >�دة �:نαآ�9 �� آ�ن  :  
0 cos 1α< 0  و  > sin 1α< <  
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090α         ��� أن  β+ cos:  �:ن= sinα β=  و  sin cosα β=.  
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���س زاو�� >�دة �:نαآ�9 �� آ�ن     :2 2cos sin 1α α+ =  
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α و βD�!د�< D�Cزاو� �E��� .  

090αإذا آ�ن  β+   :  �:ن=
 cos sinα β= 
 sin cosα β= 
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α و βD�C��CC� D�!د�< D�Cزاو� �E��� .  

tan إذا ()�F أن 2 3α = −"G<��  :cos sin sin cosα β α β−  


